COCHIN PORT TRUST

www.tenderwizard.com/CPT

Tender No: T6/T-2007/2024-C Date: 18.03.2024- (PRICE BID)

Name of Wok:"PROVIDING FENCING ABOVE THE DWARF WALL AT SHORE SIDE & COMPOUNDWALL AT BACK SIDE OF HARBOUR HOUSE"

	SCHEDULE- A- SCHEDULE OF QUANTITIES TO BE DONE ON CONTRACT									
	Please Enter the Contractor Name									
Sl.N o:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Departme ntal rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words			
A	Providingfencingabovethedwarfwallat Harbour House	shore side of								
1	Providing and fixing up to floor fivelevel precast cement concrete solid block including hoisting and setting in position with cement mortar 1:3(1cement: 3coarse sand), cost of required centering, shuttering complete:1:1.5:3 (1cement:1.5coarses and:3graded stone aggregate20 mm nominal size) complete including cost of all material, labour, tools, equipments etc. as per detailed specifications and directions of Engineer-in-Charge.		One Cubic Metre	19354.16	Rupees Nineteen Thousand Three Hundred Fifty Four and Sixteen Paise Only	116124.96	Rupees One Lakh Sixteen Thousand One Hundred Twenty Four and Ninety Six Paise Only			

Sl.N o:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Departme ntal rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
	Plastering with cement mortar 1:4, 12 mm thickcomplete including cost of all material, labour, tools, equipments etc. complete as per detailed specifications and directions of Engineer-in-Charge.	80.00	One Square Metre	362.66	Rupees Three Hundred Sixty Two and Sixty Six Paise Only	29012.80	Rupees Twenty Nine Thousand Twelve and Eighty Paise Only
	Structural steelwork riveted, bolted or welded in built up sections, trusse sand framedwork, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete complete including cost of all material, labour, tools, equipments etc. complete as per detailed specifications and directions of	2600.00	One Kilogr am	138.28	Rupees One Hundred Thirty Eight and Twenty Eight Paise Only	359528.00	Rupees Three Lakh Fifty Nine Thousand Five Hundred Twenty Eight Only
4	Removing dry or oil bound distemper, waterproofing cement paint and the like by scrapping, sandpapering and preparing the surface smooth including necessary repairs to scratches etc. complete including cost of all material, labour, tools, equipments etc. complete as per directions of Engineer-in-Charge.	240.00	One Square Metre	24.80	Rupees Twenty Four and Eighty Paise Only	5952.00	Rupees Five Thousand Nine Hundred Fifty Two Only

Sl.N o:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Departme ntal rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
5	Finishing walls with Acrylic Smooth exterior paint of required shade:13.46.1 Newwork (Two or more coat applied @ 1.67ltr/10 sqm over and including priming coat of exterior primer applied @ 2.20 kg/10 sqm) complete including cost of all material, labour, tools, equipments etc. complete as per detailed specifications and directions of Engineer-in-Charge.	220.00	One Square Metre	223.83	Rupees Two Hundred Twenty Three and Eighty Three Paise Only	71625.60	Rupees Seventy One Thousand Six Hundred Twenty Five and Sixty Paise Only
6	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: two coats complete including cost of all material, labour, tools, equipments etc. complete as per detailed specifications and directions of Engineer-in-Charge.	55.00	One Square Metre	165.19	Rupees One Hundred Sixty Five and Nineteen Paise Only	9085.45	Rupees Nine Thousand Eighty Five and Forty Five Paise Only
7	Supplying, Laying and jointing PVC pipe (class5) with ISI mark including all specials for water supplyline.b.25mm dia pipe complete including cost of all material, labour, tools, equipments etc. complete as per detailed specifications and directions of Engineer-in-Charge.	60.00	Metre	79	Rupees Seventy Nine Only	4740.00	Rupees Four Thousand Seven Hundred Forty Only

Sl.N o:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Departme ntal rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
	Total Part-A					596068.81	
В	Providingfencingabovethedwarfwallatshore side of Harbour House						
	Demolishing brick work in cement mortar manually / by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as per direction of Engieer-in-charge including cost of all labour, tools, equipments etc. complete as per the detailed specifications and directions of the Engineer-in-charge.	1.00	One Cubic Metre	1997.65	Rupees One Thousand Nine Hundred Ninety Seven and Sixty Five Paise Only	1997.65	Rupees One Thousand Nine Hundred Ninety Seven and Sixty Five Paise Only

Sl.N o:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Departme ntal rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
2	Providing and laying cement concrete in retainingwalls, returnwalls,walls (any thickness) including attached pilasters, columns, piers, abutments, pillars, posts, struts, buttresses, string or lacing courses, parapets, coping, bedblocks, anchor blocks, plain window sills, fillets, sunkenfloor,etc.,upto floor fivelevel, excluding the cost of centering, shuttering and finishing: b.1:2:4 (1Cement: 2coarses and:4graded stone aggregate 20 mm nominal size) complete including cost of all material, labour, tools, equipments etc. complete as per detailed specifications and directions of Engineer-in-Charge.	1.00	One Cubic Metre	11625.51	Rupees Eleven Thousand Six Hundred Twenty Five and Fifty One Paise Only	11625.51	Rupees Eleven Thousand Six Hundred Twenty Five and Fifty One Paise Only
3	Structural steel work riveted, bolted or welded in builtup sections, trusses and framed work, including cutting, hoisting, fixingin position and applying a priming coat of approved steel primer all complete including cost of all material, labour, tools, equipments etc. complete as per detailed specifications and directions of Engineer-in-Charge.	500.00	One Kilogr am	138.28	Rupees One Hundred Thirty Eight and Twenty Eight Paise Only	69140.00	Rupees Sixty Nine Thousand One Hundred Forty Only

Sl.N o:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Departme ntal rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
	Providing and fixing GI Chainlink fabric fencing of required width in mesh size50x50 mm including strengthening with 2 mm dia. wire or nuts, bolts and washers as required complete including cost of all material, labour, tools, equipments etc. complete as per detailed specifications and directions of Engineer-in-Charge. Made of GI Wire of dia. 4mm.	40.00	One Square Metre	1,083.43	Rupees One Thousand Eighty Three and Forty Three Paise Only	43337.20	Rupees Forty Three Thousand Three Hundred Thirty Seven and Twenty Paise Only
	Painting with synthetic enamel paint of approved brand and manufacture to give an evenshade: Two or more coats on new work complete including cost of all material, labour, tools, equipments etc. complete as per detailed specifications and directions of Engineer-in-Charge.	30.00	One Square Metre	165.19	Rupees One Hundred Sixty Five and Nineteen Paise Only	4955.70	Rupees Four Thousand Nine Hundred Fifty Five and Seventy Paise Only

Sl.N o:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Departme ntal rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
6	Removing dry or oil bound distemper, waterproofing cement paint and the like by scrapping, sand papering and preparing the surface smooth including necessary repairs to scratchesetc.complete as directed by the Engineer-in-charge including cost of all labour, tools, equipments etc. complete as per the directions of the Engineer-in-charge.	110.00	One Square Metre	24.80	Rupees Twenty Four and Eighty Paise Only	2728.00	Rupees Two Thousand Seven Hundred Twenty Eight Only
7	Applying one coat of water thinnable cement primer of approved brand and manufacture on wallsurface:Water thinnable cement primercomplete including cost of all material, labour, tools, equipments etc. complete as per detailed specifications and directions of Engineer-in-Charge.	110.00	One Square Metre	81.54	Rupees Eighty One and Fifty Four Paise Only	8969.40	Rupees Eight Thousand Nine Hundred Sixty Nine and Forty Paise Only
8	Finishing walls with Acrylic Smooth exterior paint of required shade: Old work (Two or more coat applied @1.67ltr/10sqm) on existing cement paint surface complete including cost of all material, labour, tools, equipments etc. complete as per detailed specifications and directions of Engineer-in-Charge.	110.00	One Square Metre	135.77	Rupees One Hundred Thirty Five and Seventy Seven Paise Only	14934.70	Rupees Fourteen Thousand Nine Hundred Thirty Four and Seventy Paise Only

Sl.N o:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Departme ntal rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
9	Cutting and removing coconut trees of various heights and disposing the debris as directed by the Engineer-in-Charge including cost of all labour, tools, equipments etc. complete as per the directions of the Engineer-in-charge.	1.00	Each	3,000.00	Rupees Three Thousand Only	3000.00	Rupees Three Thousand Only
10	Cutting & removing branches of trees of girth below 1.20m without causing damages to the building and disposing the wooden wastes within a lead of 6km as per the directions of the Engineer-in-Charge, including hire of necessary machineries, labour and transportation charges etc complete and the usable materials has to be stacked at the compound of kendriya Bhandar	6.00	Each	432.35	Rupees Four Hundred Thirty Two and Thirty Five Paise Only	2594.10	Rupees Two Thousand Five Hundred Ninety Four and Ten Paise Only
	Total amount for Part-B					163282.26	
	Total amount for Part-A & Part B					759351.07	

Sl.N o:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Departme ntal rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words			
		BIDE	ER'S (QUOTING A	AREA					
		Departeme ntal Estimated amount	Percentage quoted at the Departmenta		Above/ Below					
Po	ercentage quoted above/ below the dep shown in the above sched		In Figures	In Words						
Notes: 1.The quotationer shall quote either plus or minus sign (eg: +5 or -5) and in figures and words 2. Only two decimal digits shall be accepted 3.quotationers shall also quote Above/ Below in words themselves in the last column. 4.In case of discepancy in words and figures the quoted figure in word will prevail				759351.07						
	"This is a Electronic Submission No Need of Signature"									